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BIEF — P2 2FEEIILBELRIAEND |[BIRF— P2 1IFEIIHLELRAETND
1% BLA o FEFE K O & 1% BHKI oo FEHE K O E
MKBAOFERE | HEHE | FELAR 1% B O i HR LA | REALIAE
TIT I 25%50mL | 3,076,100 TIT I 25%50mL | 3,078,500
1k Lk
WA T 4 7 1g 1)K 3,700 N7 47 1g 1R 3,700
) v v
HH ik 2 45 Al cni| 10,526,600 HH 2 A Al cni | 10,722,800
1. % ¥ [ 275 VI 1000 KL fir 390, 600 1. & e [ 55 VI 1000 B fi7 358, 000
ISIER 1) SR 1R
Rz IR R R N I 1000 H fi7 62, 300 LRS- 3 NI 1000 Hi {7, 42, 400
& gt [ 25 IX K] 1 R e [ 26 IX K] LK
+ +
4 b bEHX— JIRYNE s 17,800 4 b EH— JIRUNE ' 16, 400
A BAL
b bifn 5% Bk LR 126, 300 b b B sk LR 111, 800
Hiz J8 1 R 2 (A 7 fo it YR R [
% XIA 1 HXNKA 1
R=E R 10000 3 A7 18, 800 ==V 10000 Hi A7 23,100
1R 1R
N 7 a7 2.59 L | 1,646,100 NG 7 v 7 2.59 1k | 1,546,600
AN RN
FLH B s At 1000 B fi7 17, 400 FIHB s A% 1000 B A7 19, 100
a7 v 1) B a7 1§D
WP D (R 1000f% 13K 9,500 D (R 10004% 1K 9,500
h o) AN#®&E h o) A&
4R= 0w ) BN Jna 7y v
L A JE A 250 HLAT 1R 83,400 PUmE A5 )R 250 HL A7 1)k 70,600
/A =0 ) BN /A=) BN
vz R R e N T 500 Hi {7 1)K 429, 200 WL R AE N T 500 84 {i7. 13k 440, 000
vF hrrE VF ru e
V| > 1
vz R e N TS 2500 H i 300 iz f IR e N T 2500 Hi 7 400
e = 1 A=t 1R
> C > C
ANT N na 2000 B {7 40, 000 ANT v 2000 Hi A7 38, 000
= LR =% LK
vz R R S N C LR 2,100 Hz R R A N C LR 700
1—A477 1—A 77
FNN =K — FN—HF —




WIER (EB) :BIERE - P2 2FFICHME - AN NS MEBA OREELNE
BOoAT (FEB) - BIRFZ FR2 1IFEICRE - MAININETMERHMAOFEEK &
Mg Al o | # A __ LS NEER 21 R |t T e &
i %5 o (Ewim 5 (AW 5 | & T &t 1E i &
H ok EIES KL % (W3A)
77 3 v | 25% 50| 1,801,200| 1,244,500 0| 3,045,700 881,900| 3,927,600
mL 1)R| 1,784,900 1,094,900| 44,000| 2,923,800 989,800| 3,913,600
LR SN 1g 1) 3,900 0 — 3,900 1,700 5,600
7N ) 3,600 0 — 3,600 900 4,500
i ik 2 5 Al cnt| 4,923,000 6,407,500 — 11,330,500(| 3,007,300 14,337,800
4,923,000| 6,403,400 — 11,326,400 | 2,614,200( 13,940,600
i % % & &5 | 1000 B 115,700 0] 302,500 418,200 155, 300 573,500
VI [X] 7 A LR 94, 300 0| 287,000 381, 300 112,600 493,900
W MR HE N | 1000 H 52,700 0| 29,100 81,800 21,100 102,900
(IR N S KA i
X & 1 43,600 0 = 43,600 8,200 51,800
L e X | IEANK 0 4,100| 15,800 19,900 5,900 25,800
— S Al 0 3,700 9,900 13,600 9,300 22,900
E ko 4 Lk 0 129,000 — 129,000 31,700 160, 700
e vz K 1 i
B [E 5 XTA 0 93,000 — 93,000 46,200 139, 200
%
e vy [10000H 29,000 0 — 29,000 19,000 48,000
AL 1R 18,000 0 — 18,000 15,000 33,000
Nt 7 m |2.5¢g 1,596,400 127,700 — 1,724,100 479,700 2,203,800
7 v LR 1,339,700 99, 800 — 1,439,500 464,400| 1,903,900
FLH B s A 10008 500 18,900 — 19,400 10, 400 29,800
LR =R A P VAR B 1)
U 500 27,700 — 28,200 11,400 39,600
WEH D (| 1000 0 10,200 — 10,200 5,500 15,700
Rho) A |1
E s a7 0 9,800 — 9,800 4,700 14,500
U
P A A5 B N 250 K 0 65,200 — 65,200 50, 700 115,900
R = A A i)
NS 0 73,300 — 73,300 34,400 107,700
By T RN 500 Hi 455, 800 0 — 455,800 110,400 566,200
T vF ba | AL LR
v E I 416,300 0 — 416,300 126,300 542,600
VLM S N | 2500 HL 0 0 - 0 500 500
EMEAE 7 a | LR
74 v C 400 0 — 400 400 800
AT N7 | 2000H 40,100 — 40,100 14,800 54,900
=0 2 AL 1R 37,400 — 37,400 13,800 51,200
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